
Table G-4

Vapor Intrusion

Unit Conversions (ESE 1982)

Unit  Multiplied by To Obtain

Inches of water 249.1 Pascal

Inches of water 7.355 x 10
-2 

Inches of mercury

Inches of water 2.4581 x 10
-3 

Atmospheres

Inches of mercury 3.342 x 10
-2 

Atmospheres

Inches of mercury 2.54 x 10
1 

Millimeters of mercury

Atmospheres 101,325 Pascal

Atmospheres 2.992 x 10
1 

Inches of mercury

Atmospheres 7.6 x 10
2 

Millimeters of mercury

Pounds per square inch 6894 Pascal

Pounds per square inch 6.804 x 10
-2

Atmospheres

Pounds per square inch 2.036 Inches of mercury

Bar 100,000 Pascal

Bar 9.869 x 10
-1 

Atmospheres

Liter 3.531 x 10
-2 

Cubic feet

Liter 1,000 Cubic meter
o
F 5/9 (

o
F-32) 

o
C

o
C 9/5 (

o
C+32) 

o
F

μg/m
3 

24.45/MW ppbv

ppbv MW/24.45 μg/m
3

Pascal 0.004 Inches of water


